es-responsive’:??

es-responsive(es;ly;tgq;la;tgs)
=qet (Ve=rcv(ly,tgq).
Je’'=rev(la,tgs).
e < sender(e’)
& (Vea=rcv(ly,tgq). (e <loc e3) = (sender(e’) <loc e3))
& (Ve'=rcev(ly,tgs). sender(e”) = sender(e’) = e” = ¢'))
& (Ve'=rev(la,tgs).
Je=rcv(ly,tg,).
e < sender(e’)
& (Ve''=rcv(la,tgy). (sender(e”) <loc sender(e’)) = (sender(e”) <loc €)))

clarification:

es-responsive(es;l1;tg;;l2;tg,)
=qot alle-rev(es;ly;tgy;e.existse-rev(es;la;tgy;e’.es-le( es;e;es-sender(es; e’))

& alle-rev(es;ly;tgyses.es-locl(es; e; ea) = es-locl(es; es-sender(es; €'); e3))

& alle-rev(es;la;tgy;e’’ . es-sender(es; €”’) = es-sender(es; e') € es-E(es)

= e’ = ¢ € es-E(es))))
& alle-rev(es;la;stgq;e’ .existse-rev(es;li;tgy;e.es-le(es;e;es-sender(es; €'))
& alle-rev(es;lastgy;e’ es-locl(es; es-sender(es; €); es-sender(es; e’)
= es-locl(es; es-sender(es; €”); e))))
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